
CPSC 421/501 November 6
,
2014

- Standardized DTA's
, Turing mis

- Acceptance
DFA

universal
- Acceptance

T
. m. [ Turing

machine
-

Acceptance
Python

We are all T . m
. project

managers...

Homework : Code snippet

to build a counter
.



Idea !

Tim
.

[ *-> Lee
loops

Homeworks : 5 = 50 . 1)

-Input(01)--
OR

*
I-kil---

OR

-koklikk
Goal ! (always accept



Tape should end with

-koklikk input

biolyda) -. in putt)

3 ising sig I's--

but111)% tr
- -input

output

#010)v .



for
us
,

Tum

(G
,
E

,
N
,
8

, quiga , grej)

5 : Gxm - Q + (R)
not in [Sip]

,
but

2 : QXN+ine
e

Ton new
:

you're

·)(a
,
E
,
---,

2)
5 : QxNx &]



A DEA (Q ., 5 , 90 ,
Fl

is standardized if

Q = 41 , --

-,a)

2 = 4 ! --

., z]

for some Ne,& 10 : [12-2 .]

(optionally , may as well insist that

q - 1 + Q)
F(Q = 4) -- na)

: Q + + Q



SS

G : Emahlim , logh
+41- -]

Usually : could write

G(1 , 1)
= 27

na311

G(1
,
2) : 311

i NG : 411

Na N2 = S

411#5 #27 311 it
-

n i

Gil Glij



In this way,

each standardized DJA is

a string of [0, --

,
9
,#]

Alternatively :

5 #27 311

w

# 1 1 27##/#

311 #
-



Tom !

(Q .
E
,
M

,
5

, 90 , ga , quej)
inf
alphabet tape

alphabet

standardized if

G = (4 - - nab

G + 44 -- .,&]
N =41 - --

- Mm)

[cM

4shad4 -
, un]

u + nzt



9 1 G = 44 - -na)

9a : 2
, grej : 3

(?) could
googae yes ,

but

it's not important-

Acceptance
DA

M is a standard-

- 4[m ,
i7 I dea

. I
i is input

[ :-g)
,

it *
e

. s .

i = 231 <i) :#23



Acceptance(i) (Mis
StandardizedTim.

,
i is inputy

ANDHO CHEATING-

Example :

<m
,
i)

3721H -

2 + (b) +4
↑N T

723
1Q1 15) Irl ⑭
i : 164723helts en input

if M does not



[M
,
i) is not entirely

precise ,

until you
make it precise

[sip] is a bit "light"
on these details---

Can
we regonige/decide

D Acceptance
DEA

② Acceptance Tom &
&Acceptance Python 1
Sa- 124



Acceptance DEA's

23 / 1001 ..
)

1) 15) 90 FCQ

# 1 2 + 2 #GH)

~
&

I

Accepte
to Gre

<m , i) m

B 100 105 #
-

-- - # blah blah
Wblch
input



code human
and tape ! code-bot

-
## +GH)

write input on tape L

↑
~

Acceptance
T . m .

on input (M
, i)

"We simulate in on i

and return the result if
we don't keep


